Review for Midterm
Name:

‘uestions 1 through 3 refer to the following:

In the given diagram, what type ofline segment is PS?

P
9]
-
Q S R
A) median C) angle bisector
B) altitude
p
400400
Q S R
A) median ) angle bisector
B) altitude
=]
3)

&) 7 S 7 R
A} median C) aliitude

B} angle bisector

4)

5)

6)

&)
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Under a dilation with respect to the origin, the image of
P(-15,6) is P’ (-5,2). What is the scale of dilation?

A) 10 B) 0 -4 D) 3

LIl —

Ifthe point (2,-5) is reflected in the line y = x, then the image
is

A) (52
B} (-52)

O (5-2)
D) (-2,5)

Ifpoint R’ (6,3) is the image of point R(2,1} under a dilation
with respect to the origin, what is the constant of the
dilation?

A) 1 B) 2 C) 3 D) 6

In the accompanying diagram, AA * B’ C” is the image of
AABC,

O
0
w
Pzl
0]

Which type of transformation is shown in the lustration?

C) dilation
I}) rotation

A} line reflection
B) translation

Under a dilation where the center of dilation is the origin,
the image of A(-2,-3)is A’ (-6,-9). What are the coordinates
of B, image of B(4,0) under the same dilation?

A) (4,0) O (12,0

B) (-12,0) D) @0
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9)  The pcint (-3,-2) is reflected in the origin. The oord inates of | 13)  Ifthe measures of the angles ofa triangle are represented by

its imaze are (x +30)°, (4x +30)°, and (10x - 30)°, the triangle must be

A) (473) G (G2 A) obtuse () scalene

B) 23) D) (:3.2) B) right D) isosceles

10) What is the value of x that makes £, Il £,? 14)  Which condition dees not prove that two triangles are
congruent?
T A) ASA =ASA C) $SS = SSS
ﬁBX)O . B) S$8A =358SA D) SAS=SAS
) (2x + 60)° ¢
J ‘ 15) What is the image of A(8,2) under Rgge?

A) 10 B) 12 O 6 D) 20 A) (8:2) Cy (-2.8)

B) (-3.2) D) 2.8

11) What is the value of x that makes £, I 2,7 I
16) In the figure below, AB = BC.

T
/‘ B
p- .

T (3x-15)°
4 (2x+10)° ‘ A C D
'/ Ifm ABC = 72°, what is mZBCD?
A) 37 B) 35 Qs D) 25 A) 108° C) 106°
B) 72° D) 126°
12)  What is the congruence correspondence, if 1y, that will
prove the given triangles congruent? 17) What is the sum of the measures of the interior angles ofa
hexagon?
”7 A) 360° ) 540°
/ 7(:.- By 720° D} 1,440°
A) AAS C) SAS
B) USA D) none

18)  Whatis the measure of each exterior angle of a regular
polygon having 6 sides?
A) 45° C)y 120°
By 72° D 60°




If translation Tmaps point A(-3,1) onto point A’ (5,5), what

19)
is the translation 77
A) Ty O Tgy
B} TS,G D) TZ, 4

20)  The transformation T 5 y maps the point (7,2) onto the point
whose coordinates are
A) (55) O ¢14,6)

21) A translation moves A(2,3) onto A’ (4,8). What are the
coordinates of B’ the image of B(4,6) under the same
franslation?

A) (12,13) G (61D
B) (6.8) D) (8,12)

} AABChas vertices A(-54), B(-2,3) and C(6,-1). Find the
coordinates ofthe images of the vertices of AABC under the
given glide reflection.

T

0.-3° ry-axis

Use a compass and straightedge to construct an
inscribed square in circle T shown below.
{Leave all construction marks.]

:?3'!&\}
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23)\7;\ Construct the ray that bisects ZB.

24)  Point (-3,4) is rotated 180° about the origin in a
counterclockwise direction. What are the coordinates ofits
image?

25} inthe accompanying diagram of AABD, mZA =70° and
ms B =50°.

B
50°
70°
A D c

Find the measure of exterior angle BDC,
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26) Inthe accompanying diagram, AABC is isosc os, BCis 30) Triangle ABC has coordinates A(-1,3), B(-6.5), and C(-4,7).

extended to D, AB = AC, and mZA = 80°.
{(a) On graph paper, draw and label AABC.

A .
(b) Graph and label AA "B/ C’, the image of AABC aftera
reflection in the x-axis.
(¢) Graph and label AA”B"C", the image of AABC after a
B C .D reflection in the line y =x.

(d) Graph and label AA"B”C", the image of AABC under

Find nv ACD. . .
the translation which maps (xy) to (x + 8y +3).

27)  Find t1e measure of each interior angle of a1 aulsr polygen

f5sides. . .
of 5 sides 31) Whatis the slope of the line containing points A{4,-1} and
B(0,2)?
4 3
A) - o 2
) 3 )
3 4
B) - D) =
) 4 ) 3

28) Given: AABD=ABAC

D

. 32) What are the coordinates of the midpoint of the line
E segment whose endpoints are (2,6) and (10,4y?
A} (41 C) (12,10)
B) (5.6} D) (6,5

A B

Name three pairs of congruent angles and t!  :e aigs of
congiuent sides.

33} Write an equation of'the line that is the perpendicular
bisector of the line segment having endpoints of (-4,:2) and
(8.4).

29) Wha: are the coordinates of A7, theimage Ar23)aftera

reflection in the x-axis?

34)  Write an equation of the line perpendicular to the line
y=4x - 9 and passing through the point (3,2).




35)  Write an equation ofthe line that is paraliel toy=13x-5and P Q

that passes through the point (1,6).

Questions 37 and 38 refer to the following;:

Supply the missing reason(s) for the given proof,
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36) =
S T
Given; Ff_i_mQ_S
Ris the midpoint of PT
PQ=ST

Prove: 156 I ST

A
STATEMENTS | REASONS
37 D (1)AD=DC  [(1) Given
DC =DB
(2) AD = DB (2)
B C
STATEMENTS | REASONS
8- —&—9 -
33y W X vy z (Hwy=Xxz (1) Given

(2) XY = XY (2)
ByWX=vZ  [(3)



3*\\) A) Find the scale factor of the dilat 1.

B) Determine if it is @ reductionorc .
enlargement. Explain why.

V@ The encpoints of DEF are D(1,4) and F(1€ 4) ’
Determ ne and state the coordinates of poin I, 1

DE:EF=12:3.

Directed line segment PT has endpoints  0lie
coordinates are P(—2,1) and 7(4,7). Det nine the
coordinates of point .7 that divides the se et ip

the rutio 2 to 1.




